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2. MIPAS Daily Report for level 2 products summary report
(See mipas_daily_report_level2_ ML2PP_7_03_W_20070213.html for a detailed report).

2.1. General Info

¢ 2.1.1 Report summary
¢ 2.1.2 Summary per product

2.2 Processing performance indicators

e 2.2.1 Successful retrievals

e 2.2.2 Pressure overview

e 2.2.3 Temperature overview

¢ 2.2.4 Species overview

¢ 2.2.5 History of daily averages

2.1 General Info

This report contains a daily analysis on parameters extracted from MIPAS level 2 data (The MIP_NL__ 2P product).

2.1.1 Report summary

The table below shows general characteristics of the data that are included into this report.
Item Value
v1.11 26-05-2015
28APR2016 11:26:36

Report version

Time of report generation
Data source version ML2PP/7.03-W

Processing scope for products 13FEB2007 00:00:00 to 14FEB2007 00:00:00
Start time of first product within scope | 13FEB2007 12:08:47

Stop time of last product within scope |14FEB2007 01:29:30

Total number of level 2 products 8
Number of level 2 products with errors |0

2.1.2 Summary per product

The following table shows a summary for each product used in this report.

# Product name Start time Stop time Prod err |Number of scans (tot/proc) Quality summary warnings

0 |MIP_NL__2PWDSI20070213_120847_000057712055_00310_25915_1000.N1 |13FEB2007 12:08:47 | 13FEB2007 13:44:58 |0 127/127 VMR_TERM_MACRO_MICRO[HCN/macro:1; F14/macro:1; HCN/micro:4]
1|MIP_NL__2PWDSI20070213_134548_000060062055_00311_25916_1000.N1 |13FEB2007 13:45:48| 13FEB2007 15:25:54|0 128/128 VMR_TERM_MACRO_MICRO[F14/macro:2; HCN/micro:2]

2 |MIP_NL__2PWDSI20070213_152600_000060342055_00312_25917_1000.N1 | 13FEB2007 15:26:00|13FEB2007 17:06:35|0 133/133 VMR_TERM_MACRO_MICRO[HCN/macro:1; HCN/micro:1]

3|MIP_NL_ 2PWDSI20070213_170641_000059902055_00313_25918 1000.N1|13FEB2007 17:06:41|13FEB2007 18:46:31|0 132/132 VMR_TERM_MACRO_MICRO[HCN/micro:3]

4 |MIP_NL__2PWDSI20070213_184707_000060352055_00314_25919_1000.N1 |13FEB2007 18:47:07 | 13FEB2007 20:27:42|0 129/129 VMR_TERM_MACRO_MICRO[HCN/macro:1; F14/macro:1]
5|MIP_NL__2PWDSI20070213_202748_000060342055_00315_25920_1000.N1 | 13FEB2007 20:27:48| 13FEB2007 22:08:23|0 133/133 VMR_TERM_MACRO_MICRO[HCN/macro:2; HCN/micro:3]

6 |MIP_NL__2PWDSI20070213_220829_000059902055_00316_25921_1000.N1 |13FEB2007 22:08:29| 13FEB2007 23:48:19|0 132/132 VMR_TERM_MACRO_MICRO[HCN/macro:2; HCN/micro:1]

7 |MIP_NL__2PWDSI20070213_234855_000060352055_00317_25922_1000.N1 |13FEB2007 23:48:55| 14FEB2007 01:29:30|0 129/129 VMR_TERM_MACRO_MICRO[HCN/macro:1; F14/macro:2; HCN/micro:2]

2.2 Processing performance indicators
2.2.1 Successful retrievals

This section includes a table with statistics on the number of retrievals, as well as a worldmap plot that shows successful retrievals.

RETRIEVAL MDS |# scans processed |# Successful retrievals| %
PT 1043 925 88.686
H20 1043 925 88.686




03 1043 925 88.686
HNO3 1043 925 88.686
CH4 1043 925 88.686
N20 1043 925 88.686
NO2 1043 925 88.686
F11 1043 925 88.686
CLNO 1043 925 88.686
N205 1043 925 88.686
F12 1043 925 88.686
COF2 1043 925 88.686
CCL4 1043 925 88.686
HCN 1043 925 88.686
F14 1043 925 88.686
F22 1043 925 88.686

Mumber af successful retrievals vs, geolocation {#=day side , triangle=night side).
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2.2.2 Pressure overview

This section shows values (left) and error (right) for pressure after binning individual sweep values over retrieved altitude and tangent latitude.



Fressure [hPd]

ao T T

80

bl

Retrievad altituda [krn]

20

10

o | ]

—100 =5 a

S

LS latitude [degrees_naorth]

2.2.3 Temperature overview

This section shows values (left) and error (right) for temperature after binning individual sweep values over retrieved altitude and tangent latitude.

Termperature [K]

100

a0 T T

it

bl

K o

Retrigvad altituda [krn]

*r

o | ]

E

—100 —a0 O
LOS lakitude [dcgrcn:s_n-c-rth]

2.2.4 Species overview
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2.2.4.1 H20 overview This section shows values (left) and error (right) for H20 after binning individual sweep values over retrieved altitude and tangent latitude.
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2.2.4.2 O3 overview This section shows values (left) and error (right) for O3 after binning individual sweep values over retrieved altitude and tangent latitude.
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2.2.4.3 HNO3 overview This section shows values (left) and error (right) for HNO3 after binning individual sweep values over retrieved altitude and tangent latitude.
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HNO3 winr [ppmv]
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2.2.4.4 CH4 overview This section shows values (left) and error (right) for CH4 after binning individual sweep values over retrieved altitude and tangent latitude.
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2.2.4.5 N20 overview This section shows values (left) and error (right) for N20 after binning individual sweep values over retrieved altitude and tangent latitude.
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2.2.4.6 NOZ2 overview This section shows values (left) and error (right) for NOZ after binning individual sweep values over retrieved altitude and Sun Elevation Angle. Note that for NOZ the bin heights are 8 km.

2.2.4.7 F11 overview This section s

MNZ0 wmr [pprov]
T

a0 T

it

& &
T T

(Y]
=]
T

Retrigvad altituda [krn]

10

o

-‘-l

—100 —ah 0

oo

LOS lakitude [dcgrcn:s_n-c- rf.h]

100

MOZ vmr [pprny]
Al T T

Fi

Gkl o

1 o

Retrigvad altituda [kr]

20

1G

o | ]

—100 =50 0
Sun glevation angle [deg)

hows values (left) and error (right) for F11 after binning individual sweep values over retrieved altitude and tangent latitude.
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Temnperature [K] for pressure 100.0 kPa
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Caily everage [see title]
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............................ e | [E6 10 8D deg
0.0002 i 5 i gL 5’ 5 : B0 to 90 deg
|:|.'E'|:||:|'1 ........................................................ .§.ai. ........................................................ i ........................................................ i .................................................... .§. ...................................... e i
: : : : : = :
+
00000 - . . , . ,
00 D000 000,00 D0:00,00 000000 Q00,00 O0:00.00 00: 00, 010
15,11 /2006 3011 f2006 15,/12,/2008 30,412/ 2006 14,701 /2007 28 /01 3007 13/0%,/2007

Timz [atart of day]



Caily everage [see title]

55107

Eox107t

45=1074

40107

I Hx10™

Iox1o~t

25x107

2oxiot

1.5x107

F12 vmr [pprrv] for pressure 100.0 hPd

+—+—00 to —B0 deg
=+ —B0 to —65 deg
—G3 to —20 deg
[E1—Z0 to 20 deg
20 to 35 deq
—ES to 30 deq
B0 to 90 deg

D500
15/11 /2006

(00,40
3011 F200s

[

15

e

(A AN

12 /9006

(006,50
30 12,/ 20006

Timz [atart of day]

(500, 00
14701 F2007

00,15
2e /01 Fa0087

O 00,0
13,705,/ 2007



Caily average [see title]

COFZ wmr [ppmv] for pressure 100.0 hPa
121 ; : :

|

10100

IEI..U:':-IG? ............................ .i.; ............................ i ............................ ; .......................... i. ............................ ;

H—+—00 to —EBO deg
: , ; : : D | [ —B0 to —BS deg
7 : ; : ; : ;
g.0x10 : i : 5 : 5 —G3 to —20 deg
: - = ; : i | [FE-20 to 20 deg

; : ; : : ' 20 to 35 deq

4,0:’:1':'? ............................ E. ............................ i. ............................ E ............................. i N .E ............................ i - FS to A0 I:IEH
: ; : ; : ; &0 to 90 deg

2.0x197

.3,: ............................ .l ............................ : .................. EarEara |J;'-'7L___r;.E ................ : ............. Fealalals FE
— 20T H : : : : :
D DL Qe 00,00 D0, O Q000,00 Q00,00 Q00000 O 00, D
*IEI.-"'*I*IJ.-’ECI'DE 3(.‘-,.-"11..-"'2'305 15,-"'12,-’2006— EDJ.-'“IEJ.-’EEI'DE 111-fD1fE'DCI? EE'I.-"'CI‘IJ.-’EDE'? 13,.-"'32,-"'2'3[“!?

Timz [atart of day]



CCL4 vinr [pprev] for pressure

1.0

P [+ eee e o ............................ o ............................
= (90 to —50 deg
f Y P N SO N S U B0 ta —65 deg
K3 —B5 to —20 deg
@ [F-E-20 ta 20 deg
2 20 to 35 deq
E ................................................................................................................. e T R T L _Eﬁ tD EI:' dEH
5 4 : ' : B0 to 90 deg
a

0.8 S S S S

0.0 : : : : : :

O G20 Qs 00,00 AN Q00000 005, a0 0000 ;00,00
15711 /2006 3011 /2006 15,/12,/3006 30,712 /2006 14/01 /2007 25 /61 /2007 13/ /007

Timz [atart of day]



HCM wrr [pprov] for pressure

1.0

P [+ eee e o ............................ o ............................
= (90 to —50 deg
f Y P N SO N S U B0 ta —65 deg
K3 —B5 to —20 deg
@ [F-E-20 ta 20 deg
2 20 to 35 deq
E ................................................................................................................. e T R T L _Eﬁ tD EI:' dEH
5 4 : ' : B0 to 90 deg
a

0.8 S S S S

0.0 : : : : : :

O G20 Qs 00,00 AN Q00000 005, a0 0000 ;00,00
15711 /2006 3011 /2006 15,/12,/3006 30,712 /2006 14/01 /2007 25 /61 /2007 13/ /007

Timz [atart of day]



F14 vmr [pprrv] for pressure

1.0

P [+ eee e o ............................ o ............................
= (90 to —50 deg
f Y P N SO N S U B0 ta —65 deg
K3 —B5 to —20 deg
@ [F-E-20 ta 20 deg
2 20 to 35 deq
E ................................................................................................................. e T R T L _Eﬁ tD EI:' dEH
5 4 : ' : B0 to 90 deg
a

0.8 S S S S

0.0 : : : : : :

O G20 Qs 00,00 AN Q00000 005, a0 0000 ;00,00
15711 /2006 3011 /2006 15,/12,/3006 30,712 /2006 14/01 /2007 25 /61 /2007 13/ /007

Timz [atart of day]



F22 vmr [pprrv] for pressure

1.0

P [+ eee e o ............................ o ............................
= (90 to —50 deg
f Y P N SO N S U B0 ta —65 deg
K3 —B5 to —20 deg
@ [F-E-20 ta 20 deg
2 20 to 35 deq
E ................................................................................................................. e T R T L _Eﬁ tD EI:' dEH
5 4 : ' : B0 to 90 deg
a

0.8 S S S S

0.0 : : : : : :

O G20 Qs 00,00 AN Q00000 005, a0 0000 ;00,00
15711 /2006 3011 /2006 15,/12,/3006 30,712 /2006 14/01 /2007 25 /61 /2007 13/ /007

Timz [atart of day]



Temperature [K] for preasure 10.0 hPa

Zab

Caily averaga [=== title]

190

L rorerrenss s i A T

St

ST S S e — S— S

| A ——— SO —— B SFOBSURIN S R—

) R E—— S —— SV S—— —

----------------- 1 b——o0 ta —&0 deg

—G3 to —20 deg
[-E1—20C ta 20 deg
N 20 to 85 deg

+| 64 to 30 deg

: E0 to 90 deq

EE'EE o]
E\\ T| pe—80 ta -85 deg

D500
15/11 /2006

(00,40
3011 F200s

00,15
2e /01 Fa0087

00,00 (006,50 (500, 00
30 12,/ 20006 14701 F2007

Timz [atart of day]

O 00,0
13,705,/ 2007



Tangent altitude [kmn] for pressure 1000 hPa

32 : :
Ko |

. . f . HE 4

F b ............................. .................. EEEIEIJ ............................ ........................... L:]

Caily averaqa [eee title]

H
=)
¥
i
¥

i | [FE-20 to 20 deg
: 20 to 85 deg

—ES to 30 deq

+—+—8C to —80 deg
=3 —B0 to —B5 deg

—G3 to —20 deg

29 ............................ D on e e e e s mmm e maam e ama g e e e m e e El:l tn g.:l dEH
28 | S S A A b
27 : : : ; : :
D000, 00 09:00,00 D000 Q000,00 Q00,00 O0z00.00 000,00
18,411 F 2006 30/11 F2006 16,/12/2006 30,13/ 2006 14,701 72007 28 /01 3007 13 /0% /2007

Timz [atart of day]




H2Z wrnr [pprev] for pressure 190.0 hPa
7.2 : : :

] —— ——— le ----------------------------- -

..............................................................................................................................................

+—+—00 to —B0 deg
=+ —B0 to —65 deg
—G3 to —20 deg
[E1—Z0 to 20 deg
20 to 35 deq
—ES to 30 deq
B0 to 90 deg

]
(n
4
1

&

n
i
.
4

Daily averaga [=as title]
&
o
WH

. . - e -

4.3

D500 (00,40 00,00 (006,50 (500, 00 00,15 O 00,0
15/11 /2006 3011 F200s 15412 ,/9006 30 12,/ 20006 14701 F2007 2e /01 Fa0087 13,705,/ 2007

Timz [atart of day]




O3 winr [ppmy] for pressure 10.0 hPd

11 .
A0 froreermrensrnsnsn s e e I} ----------------- foreraneenans “EgeE-f
: ; : Eeggn |
i EEE T P e P PR PP PP I e m e e emeemeemeemeemeaEeememmeemmemmmmemmmemee-e—e= e e e me e emeemeemeemeeeeeeemeemeeememmemmmemmemmmma-n—n e dccemcccecmcemmemmmmaaapa
B ; ; : ; : i | f—+—90 ta -0 deg
] VT s L T PUTTTTTTTTTTTTESRATTR b —B0 ta —BS deg
o : : : —B5 to —20 deg
e Y S S S [F-E1-20 ta 20 deg
Fa 20 to 35 deq
E : : : ' ! ; —E5 to 80 deg
B e T e | |80 ta 90 deg
g ' ' ' 5 ' Rt
A R S AN S e SN - o]
) S SN ;
.q- """"""""""""""""""""""""""""" L e R [l R - ol B ] '§"
‘+"=-[-.+ -!-
3 : : : : : :
D0z 00L00 00 00,00 D0C000 00;00,00 Q000,00 Q000,00 000,00
18/11 /2006 3011 2008 15412 ,/2006 3012/ 2006 1401 f2007 26701 2007 13,/08/2007

Timz [atart of day]



HMO3 wmr [pprry] for pressure 1000 KPa

0.0035 .

0o s frerorn e 1
m 0LO04E oo e E e . H—+—30 to —B0 deg
' - = : [ —B0 tn —BS deg

—G3 to —20 deg
[E1—-2C to 20 deg
20 to 35 deq

x_)ggk : —ES to 30 deq
' &0 to 90 deq

Daily averaga [=ss title
=]
[
£

o E— —— S —— PPTRSE ——

E ;_g..-l-“|' !
i ‘| B
(1LG0FG - reeeererararessasanneseas LA ISITOERE R SRR LR erasenne s frosrsrasen s frorsserennn st
I ﬂ n
0.0025 - , . ; .
D= 00,00 000,00 HO:00,00 00:00.00 (00,00 000,00 (000,00
15711 /2006 30,/11 /2006 15412 /2006 30,12,/ 2006 14,701 /2007 28/01 /2007 13,702,/ 2007

Timz [atart of day]



CH4 wnr [ppmy] for pressure 10.0 hPa

1.6 ;
1.4 Iﬁ f
f

1‘2 ............................ e e i i e e e e e e aa e a e I ot et te s mm e e s n e a e e L et i i i e g
= (90 to —50 deg
- - —B0 to —65 deg
m 1.0 —B5 to —20 deg
m [5-E1—20 to 20 deg
o R $ 20 to 85 deq
E |:|1E_ ............................ I T T T T T T I E _Eﬁ tﬂ Eul.l:l I:IEH
= g B0 to 90 deg
& :

0.6 , . . : . -*.'FL“‘:._

04 ............................ oo ........................... _z“;_ .................. .........................

.2 ; : : . : .

OOz 30LCD Qi 00,00 AN Q000,50 Q000,00 Q00000 0 00,00
1511 F 5006 3011 2006 1512 /2004 30 1% S 2006 14,01 /2007 25 /0 S E007 13,/0% /2007

Timz [atart of day]




Cally cwverage [see titla]

MNZ2 wrnr [pprev] for pressure 190.0 hPa

0.25

(ANALH

a0 [ o ............................ o ............................ TR

[AG |- ........................................................ ........................................................ E——

.05 ‘ ........................................................ ? ........................................................ ......................................................... ,; ............................... T :*:

+—+—00 to —B0 deg
=+ —B0 to —65 deg
—G3 to —20 deg
[E1—Z0 to 20 deg
20 to 35 deq
—ES to 30 deq

D500
15/11 /2006

000,00 Q000,50 Q000,00
12,2006 30,12 ,/2006 14,701 /2007
Timz [atart of day]

[

(00,40
3011 F200s 15

e

00,15
2e /01 Fa0087

;00,00

B0 to 90 deg

13,705,/ 2007



Caily overage [see title]

MNOZ wrr, sun eleve==0 [ppmy] far pressure 10.0 hPa

0010

AAnE | o ............................ o ...........................

BT O ........................................................ ———

'E'.DDE a;. ........................................................ .§. ........................................................ E ......................................................... ia;. .................................................... i

O, 000

O f e E ............................. ;.E ................... == .; ............................ E ............................ i.

+—+—8C to —80 deg
=3 —B0 to —B5 deg

—G3 to —20 deg

[E1—-2C to 20 deg

20 to 35 deq

—ES to 30 deq

B0 to 90 deg

D500
15/11 /2006

(00,40
3011 F200s

00,00 (006,50 (500, 00
15412 ,/9006 30 12,/ 20006 14701 F2007

Timz [atart of day]

00,15
2e /01 Fa0087

O 00,0
13,705,/ 2007




Caily overage [see title]

MOZ wrr, sun elev<0 [ppmy] for pressure 10.0 hPd

0,014

5

o2

OO .l: ............................ | ..................

0.008

+—+—8C to —80 deg
=3 —B0 to —B5 deg

—G3 to —20 deg

[E1—-2C to 20 deg

H
............ —65 to 30 deg

; : ; ' : 20 to 35 deq
OB |- E. ............................ ;. ............................ E ............................. i ............................ .E ..............

: ' : : : _ B0 to 90 deg
£.004 -\_{.-“:-
'E'.DDE: ............................ .l ............................ : .................. -//_I-(“._‘f‘_ .................................................

O, 000 ; : : - : .
OOz 30LCD Qi 00,00 AN Q000,50 Q000,00 Q00000 0 00,00
18/11 /2006 3011 2008 15412 ,/2006 3012/ 2006 1401 f2007 26701 2007 13,/08/2007

Timz [atart of day]




Caily everage [see title]

F11 winr [ppmy] far pressure 10.0 hPa
251078 ; : :

E.I:I}ﬂ'ﬂlqﬁ ............................ i ............................ i ............................ §. ............................ E, ....... R i ,:

' ' : ' : +—+—8C to —80 deg
1.53‘{1{:'-\5 ........................................................ .§..;. ........................................................ i ...................................................... i .......................................... .§. .................................. . ; (= —B0 to —BS dEg

—G3 to —20 deg
[E1—Z0 to 20 deg

20 to 35 deq

: 5 : ; : i | —BS to 30 deg
T ettt i . L U L

1010 ! 5 ; B0 to 90 deq
.5.,|:|K'1'EI_B ;;. ........................................................ .§. ........................................................ E ......................................................... i ;;. ........................................................ i
1 1 :l: 1
o : : : : :

D0z 00L00 00 00,00 D0C000 00;00,00 Q000,00 Q000,00 000,00
18/11 /2006 3011 2008 15412 ,/2006 3012/ 2006 1401 f2007 26701 2007 13,/08/2007

Timz [atart of day]



CLMO wmr [ppmy] for pressure 10.0 hPa

00014
T Ti I-) SRR e e R RSRGRE LI EE S
S
B 00010 |- e e e +| F—oC ta —50 deg

Daily averaga [=ss title

‘Vf || pex—B0 ta —BS deg
—B5 to —20 deg

[E1—-2C to 20 deg

0.0008
: : . : s 20 to 35 deq
! ! i | 8BS to 30 deg
E i 5 i : B0 to 90 deg

00008 foreemeeemseesmseeas e R o EEEB ------- i
! . : : x

L s SRR R PR T L E R T L
: : : ; et 4

0.0002 . - . - . -

(NN 000,00 Q00000 Q000,00 Q000,00 Q000,00 QC: 00,00
18/ 11 F2006 3011 2008 16/12 /79006 30,12 2006 14,701 F2007 28,/01 F3007 13,02,/ 2007

Timz [atart of day]



Daily averaga [=se titls]

0.0020

MNZCE vimr [pprmy] far pressure 19.0 hPa

00015

+—+—8C to —80 deg

4= —BC to —BS deg
—G3 to —20 deg

[E1—-2C to 20 deg

o.oo1a
20 to 35 deq
—1FS to 820 deg
E0 to 00 deg
0,005 - emeonnas --------------------------- ---------------------------- S CTTTTTRPR
s i
00,0008 5 i : e e : e+
D0 50,040) O 00,40 A0:00.00 (000,50 000, 00 Q00,00 Q0 00,010
15/11 /2006 3011 F 2008 15/12 /9006 30,12,/ 2006 14701 /2007 26 /01 /2007 13,705,/ 2007

Timz [atart of day]



Caily everage [see title]

F12 vinr [ppmyv] faor pressure 10.0 hPa
ENIES [V ; : :

R

E e e frennnnn s frenTTn s "1 fF+—2C ta —E0 deg
: ! : ! : D | pex—80 to —BS deg
—G3 to —20 deg
[F-E1—20 to 20 deg
20 to 35 deq
—ES to 30 deq
&0 to 90 deg

155107 - f """"""""""""""" """"""""""""""" "" """""""""""""" "

(RUES] g SECRRRR RN rres e ST TS SRR T Tty ST -

L et SR PR B fromeens e e T, e zpaneaerhe

D500 (00,40 00,00 (006,50 (500, 00 00,15 O 00,0
15/11 /2006 3011 F200s 15412 ,/9006 30 12,/ 20006 14701 F2007 2e /01 Fa0087 13,705,/ 2007

Timz [atart of day]



Caily everage [see title]

COFZ wmr [pprav] for pressure 10.0 kPa

51074
30x1074
25x107 H—+—00 to —E0 deg
e —B0 to —BS deg
—G3 to —20 deg
P— [F-£1—20 to 20 deg
20 to 35 deq
—ES to 30 deq
50 to 90 deg
1.65x107
10107
NP : : : : : :
K] AR A 000,00 D00, 00 Q000,50 Q000,00 QI000L 00 00 00,00
16,/11 /2006 30,11 /2006 16,12 /20086 30,12,/ 2006 14,701 /2007 28,01 /2007 13 /0% /2007

Timz [atart of day]



Caily averaga [eea titla]

CCL4 wmr [pprov] for pressure 19.0 hPa
2051078 : : :
1.5}{1':'_\5 ............................ i ............................ E ............................ §. ............................ ;, ............................ i.é
' : ' : : V| 80 to —80 deg
4 03008 o S S, R, st S L] [$X—B0 to —B5 deg
: : : : : : —6G% to —20 deg
[F-E1—20 ta 20 deg
20 to 35 deq
.5|:| .H}—H ............................ E ............................. i ............................ E ............................ .i .................................... — 65 to 820 dEH
o : : : : &0 to 80 deg
[ e ettt eea et ta e et et eeh R R et seE s ee b s e e seE e EeEa R e et b eea R Rt TP O S TSPV ST PTVRUITN SOV e
—EB0x 107" : : : - : .
D000, 00 09:00,00 D000 Q000,00 Q00,00 O0z00.00 000,00
15/11 /2006 3011 F 2008 15/12 /9006 30,12,/ 2006 14701 /2007 26 /01 /2007 13,705,/ 2007

Timz [atart of day]



HCMH wrr [pprov] for pressure 100 hPa

1.0 H : H

P [+ eee e o ............................ o ............................
¥ H—+—00 to —E80 deg
f Y P N SO N S U B0 ta —65 deg
K3 —B5 to —20 deg
o [F-E1-20 to 20 deg
2 20 to 35 deq
E ................................................................................................................. R R e L _Eﬁ tD EI:' dEH
5 4 : ' : B0 to 90 deg
&

. ........................................................ S ......................................................... ........................................................

iR ; : : - : .

D000, 00 09:00,00 D000 Q000,00 Q00,00 O0z00.00 000,00
15711 /2006 3011 /2006 15,/12,/3006 30,712 /2006 14/01 /2007 25 /61 /2007 13/ /007

Timz [atart of day]



F14 vinr [ppmy] for pressure 10.0 hPa

1.0 H : H

P [+ eee e o ............................ o ............................
¥ H—+—00 to —E80 deg
f Y P N SO N S U B0 ta —65 deg
K3 —B5 to —20 deg
o [F-E1-20 to 20 deg
2 20 to 35 deq
E ................................................................................................................. R R e L _Eﬁ tD EI:' dEH
5 4 : ' : B0 to 90 deg
&

. ........................................................ S ......................................................... ........................................................

iR ; : : - : .

D000, 00 09:00,00 D000 Q000,00 Q00,00 O0z00.00 000,00
15711 /2006 3011 /2006 15,/12,/3006 30,712 /2006 14/01 /2007 25 /61 /2007 13/ /007

Timz [atart of day]



Caily averaga [eea titla]

F22 vinr [ppmyv] faor pressure 10.0 hPa

+—+—8C to —80 deg
=3 —B0 to —B5 deg

—G3 to —20 deg

[E1—-2C to 20 deg

20 to 35 deq

—ES to 30 deq

B0 to 90 deg

1LEx 107 , ,
5 i o oo §
1.2%1 .El“-i- ............................ A E ............................ §. ........................... ;, ..........................................................
.E.,I:I.‘:-ﬂ'ﬂl“ﬁ ........................................................ .,.; ........................................................ ; ........................................ : ............................................. D
FNEY .E,-ﬁ .......................................................... - ....................................................... .- ....................................................... H
P S S SO S A S
—4. 070 : : : : : '
D0z 0000 O 00,00 D000 000000 Q000,00 D000 0C; 00,00
15/11 /2006 3011 F 2008 15/12 /9006 30,12,/ 2006 14701 /2007 26 /01 /2007 13,705,/ 2007

Timz [atart of day]




Temperdature [K] for pressure 1.0 hPa

280 .
Ty
PPy
EE'D """""""""""""" el elieleteinl ettt 1""""""""""""""‘;"fﬁ-ﬁ """""""" | e _'H\-L": """""
i T
: Haedt
: &
B ZFO | e P s 1 fF—o0 ta —E0 deg
- : i | [#%—B0 ta —65 deg
: M
.E. ; IE'EHEFEE : —63 to —20 deg
) I S S A T - - - R O E-E-20 to 20 deg
3 Jae i 20 to 85 deg
z 5 {| —B5 ta 80 deg
= : oo B0 to 90 deg
ﬂ‘:' 18] OCE LT T TR EE PP EEPERFREP e memmssmasmmsmEamesmssmssmsmesamssmssmmsmsssssmssmssssn= Jemanmmameamanmnemnndenn ... ....................... R N F I
- N
g T LT AP e a ------ X ----------------------------------------------- .
230 : : : : : :
O G20 Qs 00,00 AN Q00000 005, a0 0000 ;00,00
15711 /2006 3011 /2006 15,/12,/3006 30,712 /2006 14/01 /2007 25 /61 /2007 13/ /007

Timz [atart of day]




Tangent altitude [km] for pressure 1.0 hPa

a2

B S e e

_ e .
@ a0 ta —&0 deg
T S S S, N S i.| [#%—B80 ta —65 deg
i3 Egel | EFERE ! pEeEd O —65 ta —20 deg
o ! : L | [BE—-20 to 20 deg
= 20 to 85 deg
z ” —— 65 to 0 deg
= &0 to 90 deq
&

44

42 - - - - - -

D0z 00L00 00 00,00 D0C000 00;00,00 Q000,00 Q000,00 000,00
15711 /5006 30,711 /2008 15,/12,/2006 30,12,/ 2006 14701 /2007 28701 /2007 13,/02,/2007

Timz [atart of day]



HZC winr [pprmv] for pressure 1.0 hP4d

B.Z ; : :
s i i ¥

Y E——— A SR S S 7%
] e frommmenenees % [—+—00 ta —50 deg
- : - —B0 to —65 deg
K3 —B5 to —20 deg
Y PR SO Y N o . L O TR VO N S i | [PE—20 ta 20 deg
2 20 to 35 deq
= - —ES to 80 deg
= &0 to 90 deq
I.:I‘:' BB | e e e o F

S - e b e

oo : : : ; : :

D000, 00 09:00,00 D000 Q000,00 Q00,00 O0z00.00 000,00
15711 /5006 3011 /3006 15,412 73006 30,/1%,/2006 14/01 /2007 a5 /a4 F2007 13/0% /2007

Timz [atart of day]




Q3 wmr [ppmy] for pressure 1.0 hPd

4.0 :

e s S e R R e ot
— ' ' ' ' o
= LF—‘ +| H—+—9 ta —ED deg
- - - D | pE—BO to —B5 deg
o] '
K3 i . H] —B5 to —20 deg
Y| S SO SUNS OSSO SO OO SO e i | FE—ZC ta 20 deg
o . ' : : : : 20 to 35 deq
= —— 65 to 0 deg
= &0 to 90 deq
g s s s s s s

] S — S— S R S—-1

= : ! : Xxxj : A

2.0 . - . gt | il , !

D000, 00 09:00,00 D000 Q000,00 Q00,00 O0z00.00 000,00
18/ 11 F2006 3011 2008 16/12 /79006 30,12 2006 14,701 F2007 28,/01 F3007 13,02,/ 2007

Timz [atart of day]



HNOZ wrr [pprov] for pressure 1.0 hPa

08012

00018
= 0.0008 (90 to —50 deg
- - —B0 to —65 deg
o —B5 to —20 deg
® o ooos [F-£1—20 ta 20 deg
2 20 to 35 deq
= —— 65 to 0 deg
= &0 to 90 deq
& 0.0004

0.0002

0,0000 - . . : : :

D0z 00L00 00 00,00 D0C000 00;00,00 Q000,00 Q000,00 000,00
15711 /5006 3011 /3006 15,412 73006 30,/1%,/2006 14/01 /2007 a5 /a4 F2007 13/0% /2007

Timz [atart of day]



0.6

0.3

=
=

Daily averaga [=as title]
o
L4

CH4 winr [ppmy] for pressure 1.0 hPd

+—+—8C to —80 deg
=3 —B0 to —B5 deg

—G3 to —20 deg

[E1—-2C to 20 deg

g 20 to 85 deq
: —FES to 80 deq
: j“‘ &0 to 90 deg
|:|12 ............................ e dmssmssmssmsssssmssmssEssmEmEssEssmEEmEEEEsEEEm==m==-=-— J; ........................................................ Luseemsccmssmsscsssssmbsseseeemm=
R |
(L Frmmmmmmmrmm e e e e e e e e s emmmmE e EmAmm A mmmmmm '-L_-"'-"-l'-a
£ ¥
.o - ; .
D10, 00 D000, 00 000,00 (000, 00
16,/11 /2006 30,11 /2006 16,12 /20086 30,12,/ 2006 14,701 /2007 28,01 /2007 13 /0% /2007

Timz [atart of day]




Caily overage [see title]

MNZC winr [pprmv] for pressure 1.0 hPd
O 020 : : :

= T T beeessmseesneeenneeneee ! L RETTTa - M
i : : B : G = i | F+—9C ta —50 deg

=+ —B0 to —65 deg
—G3 to —20 deg

[E1—Z0 to 20 deg
20 to 35 deq

—ES to 30 deq
B0 to 90 deg

e R booesannnn s R

L L T S e I frmeaeneeeees \\x ------

ey -2l - :
£.000 - . - FANCK | A 5 b e
D0:00,00 0:00,00 000,00 00:00.00 0:00,00 000,00 00;00,00
15711 /2006 30,/11,/2006 15/12,/2008 30,12,/ 2006 14,/01 /2007 28/01,/2007 13,/0%,/2007

Timz [atart of day]




MNOZ wrar, sun elevs==0 [ppmy] for pressure 1.0 hPa

0.3007 , ;
OO0 frmmmmmmmmmmm e T EEEr EETTTEEEEEEETEEEEPEERE e CCTTTTTTTRRR . SRS STTTERRRRRERP A & SRR -3
"m QD008 |- e R """""""""""""" ¥ A A R V] H—+—80C ta —E0 deg

=+ —B0 to —65 deg
—G3 to —20 deg
[E1—Z0 to 20 deg
20 to 35 deq
—ES to 30 deq
B0 to 90 deg

02004

Daily averaga [=ss title

00,5005

0.2002
byt T T
0,001 ; : . , .
OG0, 063 00,10 Q00,05 00100, 20 (500, 010 Q00,040 (3 001,10
15711 /5006 3011 /3006 15,412 73006 30,/1%,/2006 14/01 /2007 a5 /a4 F2007 13/0% /2007

Timz [atart of day]



Caily overage [see title]

MOZ winr, sun elev<0 [ppmy] for pressure 1.0 hPd

0,014
012
0,010
[——00 to —&0 deg
% —B0 to —B5 deg
©.0038 —B65 to -20 deg
[E1—-2C to 20 deg
20 to 35 deq
08 —FES to 80 deq
&0 to 90 deg
L.004
o002
0,000 : : - : . :
D000 00 000,00 0000, 00 Q000,50 Q000,00 000,00 A 00,00
15/11 /2006 3o 2006 15/12,/2006 30,12 ,/2006 14,701 /2007 28701 f2007 13,/02/2007

Timz [atart of day]




F11 wmr [pprmyv] for pressure 1.0 hPg

1.0

LB b ............................. ............................ e ............................
= (90 to —50 deg
B O S S S .| Pex—B0 ta —BS deg
K3 —B5 to —20 deg
@ [F-E-20 ta 20 deg
2 20 to 35 deq
E ............................ Lot i it et e s m s m s m s rm e am s m s Ea s s s a o EEarma e L T T T T T T T T T T T T _Eﬁ tD EI:' dEH
5 4 : ' ' B0 to 90 deg
a

7Y — S S A— S S

0.0 : i : : : :

O G20 Qs 00,00 AN Q00000 005, a0 0000 ;00,00
15711 /2006 3011 /2006 15,/12,/3006 30,712 /2006 14/01 /2007 25 /61 /2007 13/ /007

Timz [atart of day]




CLNO vmr [pprmy] for pressure 1.0 hPa

1.0

LB b ............................. ............................ e ............................
= (90 to —50 deg
B O S S S .| Pex—B0 ta —BS deg
K3 —B5 to —20 deg
@ [F-E-20 ta 20 deg
2 20 to 35 deq
E ............................ Lot i it et e s m s m s m s rm e am s m s Ea s s s a o EEarma e L T T T T T T T T T T T T _Eﬁ tD EI:' dEH
5 4 : ' ' B0 to 90 deg
a

7Y — S S A— S S

0.0 : i : : : :

O G20 Qs 00,00 AN Q00000 005, a0 0000 ;00,00
15711 /2006 3011 /2006 15,/12,/3006 30,712 /2006 14/01 /2007 25 /61 /2007 13/ /007

Timz [atart of day]




Daily averaga [=se titls]

NZOE vimr [pprmw] far pressure 1.0 hPa

0,0009
02008
0.0007
a0 ta —E0 deg
0.0008& % —B0 to —65 deg
—G3 to —20 deg
05005 [3-E1-20 ta 20 deg
20 to 35 deq
—ES to 30 deq
00004 80 to 80 deg
00,0003
0.0002
00001 - . ! , ; !
D0z 00L00 00 00,00 D0C000 00;00,00 Q000,00 Q000,00 000,00
15711 /2006 30,/11 /2006 15/12,/2008 30,712,/ 2006 14,701 /2007 28701 F 2007 13,/02,/2007

Timz [atart of day]



F12 wmr [pprmyv] for pressure 1.0 hPa

1.0

P [+ eee e o ............................ o ............................
= (90 to —50 deg
f Y P N SO N S U B0 ta —65 deg
K3 —B5 to —20 deg
@ [F-E-20 ta 20 deg
2 20 to 35 deq
E ................................................................................................................. e T R T L _Eﬁ tD EI:' dEH
5 4 : ' : B0 to 90 deg
a

0.8 S S S S

0.0 : : : : : :

O G20 Qs 00,00 AN Q00000 005, a0 0000 ;00,00
15711 /2006 3011 /2006 15,/12,/3006 30,712 /2006 14/01 /2007 25 /61 /2007 13/ /007

Timz [atart of day]



Caily averaga [=== title]

COFZ wrr [ppriv] for pressure 1.0 hPa

Q0004

0003 f-ommemmmmmmmmmeeeaneeees roreenen formanm e A
00002 [--rrrmmsrrrmme s psmmnmmeeenenoseesoneeees froesnneeesnnsse s s Fri i el L+ 00 to — B0 deg
3(—B0 ta —B5 deg
. : ; : : —63 to —20 deg
00007 [-rmmrmeermm e fenemnnmn e SR S feeeeeeeeeeeeend | [FEI=20 40 20 deg
: : : ' : ; 20 to 35 deq
1-\ +| 68 to 80 dag
e :
L (_-,Z- ' &0 to 90 deq

00000 f-remremsmsemsemsmnnnanss e T S P R T R Ot e CE

U007 frermrerananennes e R dremnmnnnn Rt SIS

—0.0002

D500
15/11 /2006

(00,40 00,00 (006,50 (500, 00
3011 F200s 15412 ,/9006 30 12,/ 20006 14701 F2007

Timz [atart of day]

00,15
2e /01 Fa0087

O 00,0
13,705,/ 2007



CCL4 wmr [pprov] for pressure 1.0 hPa

1.0

LB b ............................. ............................ e ............................
= (90 to —50 deg
B O S S S .| Pex—B0 ta —BS deg
K3 —B5 to —20 deg
@ [F-E-20 ta 20 deg
2 20 to 35 deq
E ............................ Lot i it et e s m s m s m s rm e am s m s Ea s s s a o EEarma e L T T T T T T T T T T T T _Eﬁ tD EI:' dEH
5 4 : ' ' B0 to 90 deg
a

7Y — S S A— S S

0.0 : i : : : :

O G20 Qs 00,00 AN Q00000 005, a0 0000 ;00,00
15711 /2006 3011 /2006 15,/12,/3006 30,712 /2006 14/01 /2007 25 /61 /2007 13/ /007

Timz [atart of day]




HCM wrar [pprmv] for pressure 1.0 hPa

1.0

LB b ............................. ............................ e ............................
= (90 to —50 deg
B O S S S .| Pex—B0 ta —BS deg
K3 —B5 to —20 deg
@ [F-E-20 ta 20 deg
2 20 to 35 deq
E ............................ Lot i it et e s m s m s m s rm e am s m s Ea s s s a o EEarma e L T T T T T T T T T T T T _Eﬁ tD EI:' dEH
5 4 : ' ' B0 to 90 deg
a

7Y — S S A— S S

0.0 : i : : : :

O G20 Qs 00,00 AN Q00000 005, a0 0000 ;00,00
15711 /2006 3011 /2006 15,/12,/3006 30,712 /2006 14/01 /2007 25 /61 /2007 13/ /007

Timz [atart of day]




F14 wmr [pprmyv] for pressure 1.0 hPa

1.0

LB b ............................. ............................ e ............................
= (90 to —50 deg
B O S S S .| Pex—B0 ta —BS deg
K3 —B5 to —20 deg
@ [F-E-20 ta 20 deg
2 20 to 35 deq
E ............................ Lot i it et e s m s m s m s rm e am s m s Ea s s s a o EEarma e L T T T T T T T T T T T T _Eﬁ tD EI:' dEH
5 4 : ' ' B0 to 90 deg
a

7Y — S S A— S S

0.0 : i : : : :

O G20 Qs 00,00 AN Q00000 005, a0 0000 ;00,00
15711 /2006 3011 /2006 15,/12,/3006 30,712 /2006 14/01 /2007 25 /61 /2007 13/ /007

Timz [atart of day]




F22 vmr [pprmyv] for pressure 1.0 hPd

1.0

LB b ............................. ............................ e ............................
= (90 to —50 deg
B O S S S .| Pex—B0 ta —BS deg
K3 —B5 to —20 deg
@ [F-E-20 ta 20 deg
2 20 to 35 deq
E ............................ Lot i it et e s m s m s m s rm e am s m s Ea s s s a o EEarma e L T T T T T T T T T T T T _Eﬁ tD EI:' dEH
5 4 : ' ' B0 to 90 deg
a

7Y — S S A— S S

0.0 : i : : : :

O G20 Qs 00,00 AN Q00000 005, a0 0000 ;00,00
15711 /2006 3011 /2006 15,/12,/3006 30,712 /2006 14/01 /2007 25 /61 /2007 13/ /007

Timz [atart of day]
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